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riE BTl H 9RA & b B B rdfiTdT w1 SIrar ofr?

Q) IraE ) wRaEs

) geeEe &) Hrerar

Which area of Indiawas known as Avantika in ancient times?

a) Avadh b) Rohelkhand

¢) Bundelkhand d) Mawa

TSl @rel T fhe AT &1 Udih A -

NICIGIHIER 1) enfie aefRa
) efiew uTfy S) A g
Gandhi Ji considered “Khadi” as a symbol of :-

a) Industrialization b) Economic independence
¢) Economic Growth d) Moral Purity

e 3t gfear &1 fhast aam=m oar?

U) B AUS 8T 9 Sifst face

) hd TTA Sl) SIEl ghIg

Gate way of Indiawas built by:-

a) Frank LIyod Wright b) George Wittet

¢) Frank Gehry d) Zoha Hadid

YRA H 3T B BHA DI AT 2T

T) 3 CHISE

) gefTetT 3) IR

The Potato crop was introduced in India by the:-

a) British b) Dutch

¢) Portuguese d) French

100 3 IR AN 100 a9 &1 g oo <1 < & ST g ar?
Q) gai SiR SifRgar ) giels iR wiv
) el 3iR goRmae 2N ST 3R w
Which two countries were involved in a Hundred Y ears war?

a) Turkey & Austria b) England & France

c) Palestine & Israel d) Germany & Russia

196.

197.

198.

199.

200.

0w xuvOo T Q0w xuvOo Tk 0w xuvOo TV onw VO TV

Those that have seen the Hindus
have naturally no more doubt

of the existence of other persons
among them in their own country
of their existence than they have
whom they have met.

a) PSOR
) PSRQ

| was not sure

to hear hisvoice

in my heart of hearts

through that window once more

what | really wished

or never to see him there again.
a) QPRS

c) PRSQ
yet so few of us have
walls of daily routine
the time or the means
that enclose our lives
to break through the narrow
to get to know thisland.
a) SRQP

c) QSPR

Religion has been used

both as a weapon of isolation
to dull awareness

about real problems

and as morphia

b) RQPS
d) RPSQ

b) SOPR
d) RSQP

b) RPSQ
d) PORS

like education, health and employment.

a) PORS

c) QPSR
when all the number were seated
during the previous year
the secretary came to the dias
and read out the report

b) PSQR
d) RPQS

detailing the activities of the organisation

and plans for the coming year.

a) PQRS
c) RSPQ

b) SPQR
d) QRSP
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Directions (Question no. 191 to 200):

In the following questions the first and the last parts of the sentence are numbered as 1 to 6. The rest of the
sentence is split into four partsas P, Q, R & S. The four parts are not given in their proper order. Read the
jumbled parts of the sentence and find out which of the four combination is correct :

191.

192.

193.

194.

195.

©nwxuvoOo TV o nwxuVO TV ©nwxuvoOo TV

o »HnO TR

o 0NIO TR

| have not come

even if it means some humiliation
but the boy must learn

to complain, he said

to be honest

and admit he broke out window pane.
a) SPRQ b) QSPR
c) RQSP d) PRQS

India has been aland

but in the sense that learning has always been very highly valued

not indeed in the sense that education has been universal
and the learned man has been held in higher esteem
of learning throughout the ages
than the warrior or the administrator.
a) PQSR b) RQPS

c) RSQP d) SQPR
If was obvious
made by him
submitted at the meeting
from the comment
on the draft proposal
that he was not satisfied with them.
a) QRSP b) SQRP

¢) RPSQ d) PSRQ

lakhs of students

onal Indiabasis

from al over India

which are held

appear in the examinations

by different recruiting organizations.

a) PQSR b) SRQP
c) QSRP d) QSPR
There is afashion now-a-days
asan evil

who is born with a silver spoon
to bewail poverty
and to pity the youngman

. in hismouth.
a) PSQR b) RSQP
c) RPSQ d) SQPR
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10.

10.

374 3 {3y STBIT BT el HeT SITaT o7

Q) HR DRl ) foRror iy
) AedT "l ) TH & TN
Who was popularly known as Africa’s Gandhi ?

a) Mir Karzat b) Firoz Gandhi
¢) Nelson Mandela d) M.K.Gandhi

Hiferd NMABR DI AR B ATIAT HY o:

Q) & ERSIED

) 9 S) A

The Theory of natural right was propounded by:

a) Habbes b) Locke

c) Bentham d) Marx

fhA el AT ‘A= b AT urofl 272

T) 3R¥ ) vl
) e &) wiel
Who said “Man isasocia animal” ?

a) Aristotle b) Rousseau
c) Laski d) Plato
HIR 7 399 ¥ fog fa=faRaa areh & forar 27
NISER] EURIERN
) gorwmT SIEIREI
In which of the following dialects Kabir wrote ?

a) Awadhi b) Bhojpuri
c) Brijbhasa d) Maithili

3ISTAT @1 HeATRid § 9T SR AT 82
Q) AR ) 7EMRA
) SIdd HATY E)RESE!

What do the paintings of Ajanta depict?

a) Ramayana b) Mahabharta
c) Jatakas d) Panchatantra
3



11.

11.

12.

12.

13.

13.

14.

14.

fFd IR BT WBHR A T8 G Yo fbar?
Q) STRYQT ) Ay
BUEISANG $) HBRT

The govt. of which of the following states started the “ Tansen Samman” ?

a) Uttar Pradesh b) Madhya Pradesh

¢) Gujarat d) Maharashtra

3R & T&HT BT e 26.01.2015 BT §AT,  4RA & T SA—AT ... o7
T) IS 9 SidRer dsfa

A BABA TdD Q) ured TIH

R.K.Laxman died on 26.-1.2015 was aleading ....... of India

a) Cartoonist b) Space Scientist

c) Kathakali Dancer
YRd U 01 B, Fifdh

Q) U T Alebdifzh < ©

) I TH FEL Alhad ©

) < U9 BT UH MEiRG sm@afdy & fog g S @
SN T |/

d) Playback Singer.

Indiais arepublic because

a) it isademocratic Country

b) it is a parliamentary democracy

c) the head of the state is elected for a definite period

d) All of these,

YR & iRl DI FHA oo q g%

Q) 1858 41 1860

) 1859 <) 1862

Indian Penal Code came into operation in

a) 1858 b) 1860

c) 1859 d) 1862
4

177.

178.

179.

180.

Directions (Question no. 181 to 190):

We should guard against our green eyed friends.

a) rich

¢) handsome

b) jealous
d) enthusiastic

Rahul fought tooth and nail to save hislife.
a) with weapons

) using unfair means

b) as best as he could
d) with strength and fury

The popularity of the yesteryears superstar is on the wane.
a) growing more

C) growing less

b) at its peak
d) at rock bottom

The sight of the accident made my flesh creep.

a) worried me

¢) confused me

b) frightened me

d) drew my attention

In the following passage there are blanks each of which has been numbered. The options are given against
the respective numbers below the passage. Please fill them choosing the appropriate word:-

One of the major causes of the failure of ...... 81.... Countries on economic front is their ...82......

to evolve a judicious mixture of ....83..... substitution and export promotion. Zambia which ....84.... on

imports after its independence twenty years ...85.... has depleted 50% of its national ....86...... , Whereas

South Korea, which started its ....87.... development from a war ravaged status ...88.... the fifties by

equalizing high exports ....89..... high imports, isone of the ....90... nations today.

181.

182.

183.

184.

185.

186.

187.

188.

189.

190.

a) developed b) developing

a) inability
a) Scientific
a) expected
a) later

a) capital

a) financial
a) upto

a) our

a) richest

b) disadvantage

b) invention
b) traded

b) ago

b) deposit
b) fiscal

b) over

b) with

b) innovative

¢) advanced

C) incapacity
C) export

) banked

c) earlier

C) income

C) economic
c)on

¢) and

c) prolific
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d) advancing
d) handicap
d) import

d) carried

d) since

d) credit

d) economical
d)in

d) into

d) advancing



156.
157.
158.
159.
160.

Docile: a) Vague b) gentle c) stupid d) steel born
Hybrid: a) crossbred  b) pedigreed ¢) hackneyed d) unusua
L atent: a) concedled b) apparent c) lethargic d) prompt
Erotic: a) wandering b) given to mistakes c) difficult d) amorous
Aromatic: a) crippled  b) fragrant ) sentimental d) stinking

Directions (Question no. 161 to 170):
Pick out the word opposite or nearly opposite in the meaning of the given words:-

161.
162.
163.
164.
165.
166.
167.
168.
169.
170.

Accepted: a) followed b)regjected ) provided d) considered
Anger: a) party b) happiness c) approval  d) joy

Loved: a) refused b) defamed  c) distracted d) hated
Obey: a) attract b) disobey c) repe d) diffuse
Come: a) play b) fast C) go d) got

Hard: a) soft b) smooth C) delicate  d) easy
Wealthy: a) wicked b) famous o) ill d) poor

Dull: a) pale b) wise c) bright d) foolish
Opague: a) translucent b) vague c) transparent d) blind
Extrovert: a) boaster b) miser c) introvert  d) socid

Directions (Question no. 171 to 180):
Choose the correct meaning of the idioms given in italics in the sentences:-

171

172

173.

174.

175.

176.

The boy turned a deaf ear to the pleadings of all hiswell wishers.

a) listened carefully b) deadly opposed
c) posed indifference d) did not pay any attention

We should give awide berth to bad characters.

a) keep away from b) publicly condemn
C) give publicity to d) not sympathize with

Sumit had to look high and low before he could find his scooter key.
a) nowhere b) always

C) everywhere d) somewhere

Y ou may rush from pillar to post, but you stand no chance of getting what you want without a bribe.

a) be very busy b) rushiin all direction

C) go to all post boxes and post offices d) go to many offices and post |etters

At aparty, hewasin high spirits

a) talkative b) cheerful
C) drunk d) uncontrollable
She regjected his proposal of marriage point blank.
a) directly b) pointedly
c) absurdly d) briefly
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15.

15.

16.

16.

17.

17.

18.

18.

19.

19

IR Afqee 7 fhd erfwug &7

Q) 395 q1) 396
1) 398 <) 399
How many Articles are there in the Indian Constitution?
a) 395 b) 396

c) 398 d) 399

T g8l Fbd ©, WRg 719 eI gaar aney’ fbdAdr Rgid &?

Q) ISTAAd1G q) Fanfe RAR

<) sferRaa wRET 8y roreron

“Persons may change but rules should not change” is the principle of

a) Absolute Monarchy b) Constitutional Government

¢) Unwritten Constitution d) Republic

STH W DN e d AHRI HT AReTH 27

v) faerfaer &) BrfuTferaT

) SIS Tl <) =rguTfeTant
Which one of the following is the guardian of “Fundamental Rights’?
a) Legislature b) Executive

c) Political Parties d) Judiciary

URRT & I H 1 94T B A 87

T) fy &) g

) g4 B/ SR

Thelongest river in Asiais:

a) Indus b) Yangtze

¢) Hwang Ho d) Ganga

SdTs H 9eIa & HROT araraRoid ga1g & A1l T 8Idl 27
T) ¥ HAN V&1 ® &) A gear ®

A) I g B

3 I TR Feda—dedl &

What happens to atmospheric pressure with increase in altitude?
a) It remains constant b) It decreases

C) It increases d) It constantly fluctuates.



20.

20.

21.

21.

22.

22.

23.

23.

24.

24.

Q) IUUE q) e
<) gread 3)
Katrinais a name given to -----------

a) Satellite b) Star

¢) Heat wave d) Hurricane

3MIYST AR IS & AT SATD IR 78 | Uh b BRI UHfdd AT Bl Srerd &
Q) achard E G
3N SRAST

Coastal Andhra Pradesh and Orissa often face natura disasters due to

) e

a) Cyclones b) Earthquakes
c) Landdlides d) Tornadoes
3MIGT FdE BT FATE AT BIAT B Bl TS
) 9 ) efar

) SIRaH Q1) GaxT

The primary goal of disaster planning is to reduce

a) Death b) Damage

¢) Risk d) Vulnerability

IRA BT AFG F9T BT &
Q) SIUACT ¥ 5.30 ¢ 3R
1) SUAST 9 4.00 ©C 3

) SHUAST 9 4.30 &¢ UIB
3N SHUAST | 5.30 &c UI®

The Standard time of Indiais

a) 5% hoursahead of GMT b) 4 ¥ hours behind of GMT

¢) 4 hours ahead of GMT d) 5% hours behind of GMT
IR TN 39 9 9 Q9 Ol &

Q) BT ) giveresT

@) YT SIRZIGEIN

The Thar Express goes to:

a) Afghanistan b) Bangladesh

c) Pakistan d) Myanmar

141.

142.

143.

144,

145.

146.

147.

148.

149.

150.

Thetiesthat bind afamily together are ........ that they can hardly with stand any strain.

a) tenacious b) twisted

c) tenuous d) tentative

The Stenographer is very efficient, heis......... to hisfirm.

a) acredit b) ablessing

C) an asset d) aboon

The young man lost hisway in the forest and found that he had become a/an ....... to the dacoits.
a) enemy b) adversary

C) decoy d) quarry

He sold his property because hewas under alot of .................

a) account b) debt

) loan d) credit

Hewasan ...... who was fond of weird pets.

a) ambitious b) amiable

C) eccentric d) emotional

He bought new shoes last month but they arealready .................. out.

a) given b) gone

¢) knocked d) worn

He knew everything better than anybody else, and it was an affront to his ......... vanity that you

should disagree with him.

a) overwrought b) overwhelming

C) over weaning d) overstoring

The Govt. is confident that the standard of living will beginto ......... again soon.

a) revive b) lift

c) flourish d) rise

The communists represent the ...... of everything noble we have inherited from our culture and
history.

a) antagonism b) immorality

) antidote d) antithesis

The bureaucrat was ............. for hisrolein the seam.

a) reinstated b) criticized

c) indicted d) indited

Directions (Question no. 151 to 160):
Against each key word are given some suggested meanings. Choose the word or phrase which is nearest in
the meaning to the key word.

151.
152.
153.
154.
155.

Lethargy: a) serenity  b) listlessness C) impassivity d) laxity
Prognosis: a) scheme b) forecast C) preface d) identification
Emaciated: a)verytal b)very sleepy c) very thin d) very aged
Contract: a) tract b) expand C) give d) abridge
Inedible: a) unfit for human consumption b) Polluted

c) vitiated d) eatable
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129. Dueto bad weather the number of ships crossing the channel last weeksis very small.
a) are being b) are
C) were d) was
130. Roads arewet it must had rained last night.
a) must have been b) might had
c¢) would have been d) must have
Directions (Question no. 131 to 150):
Fill in the blanks appropriately:-
131. | congratulateyou .................... your Success.
a) on b) for
c) at d)in
132. | prefer seeing thefilm ........ reading
a) than b) to
C) over d) as
133. lcouldnot......... what he wanted to say
a) make up b) make out
c) makein d) make away
134. A committee hasbeen setupto......... on the problem of terrorism in this region.
a) investigate b) inquire
C) research d) report
135. Wecan't eat thisfood; itis.............
a) rotten b) old
c) bad d) rancid
136. Keats and shelley were poets of the same period; they were..............
a) Contemporary b) colleague
C) associate d) co-writers
137. HisEnglishwasroughly ............. with my Hindi, so communication was rather difficult.
a) at par b) intime
C) in accordance with d) in true
138. Thesoldierswereinstructedto .......... restraint and handle the situation peacefully.
a) exercise b) control
C) prevent d)enforce
139. My friend took hisfirst pay tothebank to ............. it in his account.
a) deposit b) deficit
C) debit d) demote
140. Family planning is essential for curbing therapid ........ in population.
a) spread b) increase
C) spurt d) any want
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25.

25.

26.

26.

27.

27.

28.

28.

20.

BT Bl Rerd 87

NEEIG ) Rafepe

) uf¥ed 9T 3 fearad uewr
Kanchanjungais situated in

a) Nepal b) Sikkim

c) West Bengal d) Himachal Pradesh

Ofh SToreawHed fs a1 | 3Tl al 27
) YRA 3R RIAR
SN) MRA 3R STHITRT

V) MR 3R urfehar

) AR 3R Sl

Palk strait separates
a) India & Pakistan
¢) India& Srilanka

b) India & Myanmar
d) India& Afghanistan

IRA A A G qTA IS DI HEl Il 2

T) BIHU de 9) ATAER TC
) PRHAST de Sl) FHART AT
The coast that belongs to Keralais known as

a) Konkan Coast b) Maabar Coast
¢) Coromondel Coast d) Canara Coast

SISTAT U 3 ¥ fohd Siredr 27

T) SR 3R ol
@) =T SR A

q) A Ua¥ iR fored

3)) BfeTulT iR 'R

The Zojila pass connects:

a) Srinagar & Leh

b) Arunachal Pradesh & Tibet

¢) Chamba & Spili

d) Kadimpong & Lhasa

SH ¥ e AT 3T ITH 9RA 9 d1eN &7

WIERE ) =
RO S) Sie
7



29.

30.

30.

31.

31

32.

32.

33.

33.

34.

Which of the following rivers has its source outside India?

a) Brahmapurta b) Beas

c) Ravi d) Jhelum
ST @ Fe o Td '

Q) T qY) et
SUEERE] S) ST
The longest river intheworld is

a) Ganga b) Nile

¢) Brahamputra d) Amazan
RCISICA IS IR 1

T) forarfaet ) qer

<) feperedt 8) BT
The capital of Rwandais:

a) Libreville b) Bogota

¢) Kigdli d) Copenhagen
SRR ECNECI I IR 1

Q) e ) K=

<) < &) =ird

Rand is the currency of :

a) Namibia b) Iran

¢) Romania d) Norway
T4 9 fd ‘sexda RIEr ot et Sirar 27

Q) @A ) I\
LIRS SIKIEE]
Which of the following is aso known as “Eternal City?’

a) London b) Rome

c) Athens d) Berlin

fra <o BT ‘Biwfue i R FHET I 272

Q) dfesrad 9 Racorels
) Arexelgd SV RSASECR]

116

117.

118.

119.

120.

Why you do not told him/ and / clarify al/ pending matters.
a) b) c) d)

He very promptly / withdrew the marks/ made by him/ on any office note.
a) b) c) d)

No one will deny/ that sarlais one/ of the most well dressed girl/ in our office.
a) b) c) d)

He was extremely annoyed / when | reported/ the matter to him/ and has fired me.
a) b) c) d)

The director aong with/ the staff members/ were present for/ the annual day celebrations.
a) b) c) d)

Directions (Question no. 121 to 130):
Which of the words/ phrases, a), b), ¢) and d) should replace the word(s)/Phrase)s) given in italics in each of
the following sentences so as to make them most effective and meaningfully correct.

121.

122.

123.

124,

125.

126

127.

128.

Can this machine be adopted in farm works?

a) by b) into

c) for d) to

When the Prime Minister said this, we know whom he was eluding to.

a) reffering b) alluding

C) hinting d) suggesting

The weather was not good, it was a bit pleasant.

a) alittle b) to some extent

c) fairly d) rather

He livesin aremote colony since August, 1989.

a) isliving b) has been living

¢) haslived d) continuesto live

When we reached the site of the crash, we saw only three alive men in the wreck

a) living b) lively

c) live d) breathing

Hardly had she entered the Police Station then all officers stood up.

a) than b) when

c) before d) since

Do how | say.

a) which b) that

C) as d) like

Stop taking drugs lest you are caught.

a) might be caught b) will be caught

¢) may be caught d) would be caught
25



106.

107.

108.

109.

110.

Which one of the following statements is not implied in the passage?

a) People needlessly blame science for war.

b) Science is misused for destructive purposes

c) Neither science not the weapons add to the horrors of war

d) Therole of sciencein ensuing world peace is subsidiary to that of man.

Which of the following is opposite in meaning to the word “anarchy” in the passage
a) Law and order

b) Political dominance

c) Economic prosperity

d) Communal harmony

The phrase “our work has scarcely begun” implies that our work
a) has not yet begun

b) has only just begun

¢) has been half way through

d) has begun, but not yet completed

The expression “keep us abreast” in the passage means
a) Keep at adistance

b) Keep side by side

c) Hold out a challenge

d) Prevent from escaping

Which of the following would be the most suitable title for the passage
a) Science and Social forces

b) Science and the horrors of war

c) Science and world peace

d) Science and the new generation

Directions (Question no. 111 to 120):
Find out error, if at al, in any part of the following sentences:-

111.

112.

113.

114.

115.

My friend did not see me/ for many years/ when | met him last weeks/ no error.
a) b) c) d)

It isincumbent / with al the students/ to abide by the college rules/ No error
a) b) C) d)

The bus collided / but no body was hurt/ in the accident/ No error
a) b) c) d)

By all standards/ heis abest soldier/ in our military school/ No error

a) b) C) d)
While going to his office yesterday/Bhola remembered that/ he had not taken/ one important office
file

a) b) 0) d)
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34.

35.

35.

36.

36.

37.

37

38.

38.

Which country is known as the “Cockpit of Europe” :-
b) Switzerland

d) Luxem bourg

a) Belgium
c¢) Netherlands

ST BRIHH ST 83T o

Q) SERAT ASIGRI Bl W I A

1) Rd H ARGIS HIfT oA A
) SHIesd SfHDE B A |
) Fed NG AN B A |

Antyodaya Programme is associated with:

a) Liberation of bonded labour

b) Bringing up cultural resolution in India

¢) Demands of textile labours

d) upliftment of the poorest of the poor.

IR ROd & 3 A I99 WBR & HHEGN F ST T8l 27

q) ANTets 9N e

@A) T —HR 21) oA

RBI does not transact the business of which of the following State Government?
a) Nagaland b) Assam

) J& K d) Rajasthan

I AT AT oI & 19 9, MRd | 99 7T aid grar g7
0) Prell ) el

&) gedl SR

As an export item of India which spice occupies the top position in value?
a) Pepper b) Chillies

¢) Turmeric d) Cardamom

RA ARBR DI DI AT AISTG AR b ER| DI Al IRl H Fad PRI D [ofY &7

) DT THT AT HRIHH
3N AT

Q) ST 3T Al

RIISSIERSICISEINEL

Which of the schemes of the Government of India makes Indian cities free from slums?
a) Indira Awas Y ojna b) Central Rura Sanitation Programme

c) Rajiv Awas Yojna d) Antyodaya



39.

39.

40.

40.

41.

41.

42.

42.

43.

43.

TR rfegawell g9 A &1 &
V) i3 srefaraven
A1) Yoirardl srefeyeRer

Indian economy isa:
a) Mixed economy

c¢) Capitalistic economy

YRAT W db &I =M Uga o

1) sHIRT 9% offw gfear
i) Rifsee &

) ArRIaTe JeieraRe

S) Dealgd 3feiergwe

b) Communistic economy

d) Centralized economy

) T B
9 PI-ifRfea d% 3ffw gfea

State Bank of Indiawas previously known as

a) Imperial Bank of India
¢) Syndicate Bank

YR RSTd db BT ISERIBRT 3T AT?

T) 1949

) 1947

Reserve Bank of Indiawas nationalized in

a) 1949
c) 1947

b) Canara Bank
d) Co-operative Bank of India

1) 1951
Q1) 1935 H

b) 1951
d) 1935

9 ®Is T sl 3R 3F® fAshar 8 8, a1 a8 RafTy dgera

T) UBIfEOhR
1) guieliEaR

) Thel Har ARHR
S1) IR Dal IABR

When there is one buyer and many sellers then that situation is called

a) Monopoly
c) Downright

fpefl avg @1 AT Q& ke iR aRell &

Q) W¥Ied &l gzl WX

) B AT W

b) Single buyer right
d) Double buyer right

) @¥e o wfdd W)
S fa=moT R

Demand of commaodity mainly depends upon

a) Purchasing will
c) Tax policy

b) Purchasing power

d) Advertisement

10

(GENERAL ENGLISH)
Directions (Question no. 1to 10) :
Read the following passage and give the answer to the questions appropriately:-

The greatest enemy of mankind, as people have discovered, is not science, but war. Science merely
reflects the prevailing social forces. It is found that, when there is peace, science is constructive, when there
IS war; science is perverted to destructive ends. The weapons which science gives us do not necessarily
cause war; they make war increasingly terrible. Till now, it has brought us to the doorstep of doom. Our
main problem, therefore, is not to curb science, but to stop war-- to substitute law for force, and international
government for anarchy in the relations of one nation with another. That is ajob in which every body must
participate, including the scientists. But the bombing of Heroshima suddenly woke us up to the fact that we
have very little time. The timeis running out and our work has scarcely begun. Now we are face to face with
an urgent question --- Can education and tolerance, understanding and creative intelligence run fast enough
to keep us abreast with our own mounting capacity to destroy? That is the question which we shall have to
answer one way or the other in this generation Science must help us in arriving at the answer, but the main
decision lies within ourselves.

101. According to the writer, the real enemy of mankind is not science but war, because
a) Science merely invents the weapons with which war is fought.
b) Science during wars becomes destructive.
¢) The weapons that science invents necessarily lead to war.
d) The weaponsinvented by science do not cause war, though these make it more destructive.

102. War can be stopped if
a) Scienceisnot alowed to lead us to utter destructive.
b) We replace force and Lawlessness by Law and international govt.
c) Scienceisrestricted to be utilized only during war time.
d) Weapons invented by science are not used to launch awar.

103.  According to the writer, the main problem we are faced with isto
a) Stop science from reflecting social forces.
b) Stop scientific activities everywhere
¢) Abolish war
d) Prevent Scientists from participating in destructive activities

104.  Our mounting sagacity to destroy can be kept under control by
a) Encouraging Social forces
b) Education and broad- mindedness
¢) Insight and constructive thinking
d) Both b) and c) together

105. The expression “bring to the doorstep of doom” means
a) Carry close to death and destruction
b) Lead to the threshold of a new destiny
¢) Indulge in aruinous activity
d) Introduces to an unpredictable destiny
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97.

97.

98.

98.

99.

99.

100.

100.

a1 s’ T 3 Herr 87

U) oad #sdl ) a1 faeies
@M ArRe IR 3N o uA feiere
Whose autobiography is“My Life’?

a) Nelson Mandela b) Bill Clinton

¢) Margaret Thatcher d) JM. Lyngdoh

ST & DI A qRad TdioT sregel derd o fordl 872
T) Safd gfea

EUSESESESSEE S

) few Hearg = sfean

S1) SIS |

Which of the following books iswritten by A.P.J Abdul Kalam?

a) Developing India
b) Scienceis Today’s India
c) Defence Set up in India

d) Guiding soul

STH ¥ fHd ¥ AT fordl?

Q) Bleilard d1) a_d

) grfor 3) Imivee

Who among the following wrote Sanskrit grammer:

a) Kalidasa b) Charaka

c) Panini d) Aryabhat

AIs® fearsd’ J&is D oTEGdH B

Q) et

AN

&) TR

SN) s RIfdar

“Life Divine” isabook written by

a) Gandhi b) Tagore

¢) Radhakrishnan d) Sri Aurobindo
22

44,

45.

45.

46.

46.

47.

47.

'S g9 Ulge’ dg BIdl o

Q) ST RIATH TSI SRTER BT & AdH AN &

9) 19 3INd oG _1ER BT ® Jid AR @

Al Fet IORG SRER BIAT 8 HA AN D
¥ 5 A P T

The “break-even-point” iswhere

a) marginal revenue equals marginal cost
b) average revenue equal's average coast
c) total revenue equalstotal cost

d) none of these

e foam forel?

T) Mg ) e
) wr—fear 1) gUT AT
Who wrote “Indica’ ?

a) |-tsing b) Magasthenes
c) Fa-Hien d) Hiuen Tsang

Q) SATGH BT ATHMH

/) feEIeger &1 AMH Sl) gad aHH
Plant & Machinery are:

a) Producers’ goods b) Consumers' goods
c) Distributers' goods d) Free goods

378 9 7 N A &1 U d8a) UHET 27

V) Hbol BN SIS

) g I IS &) ufy e e
Which of the following is a better measurement of economic development?
a) GDP

b) Disposable income

c) NNP

d) Per capitaincome

11

d1) SUHTFAT BT ATH

9 @d BT A A"



48.

48.

49.

49.

50.

50.

51.

51.

52.

52.

T frt A B S 27

INERINEEER] &) dIH=
R 2N) oIt
“Curie” isunit of:

a) Radioactivity b) Temperature
) Heat d) Energy

g8 O fHgeT sxadre 3= # fhar orar 27

T) TR &) 7dr ¥

) AghIae 3N e 9

Which of the following is used in oven?

a) X-rays b) UV rays

c) Microwaves d) Radio waves

ol # Sdl A Bl Qe & oy s SUBRT BT YART fhar Sram &7
Q) TSR ) AMR

RUECISIR € TR

Which apparatusis used to locate a submerged object?

a) Radar b) sonar
¢) Quasar d) pulsar
o8 O g IS ¥ IR 1T Sofdm 27
Q) e & U 9 &) TH U |
RHKIEES| Q) foed fRags |
Which of the following produces more burns?
a) Bathing water b) Hot water
c) Steam d) Melting iceberg
el g I fhad | T8 ToR dahdl 27
T) T ) wrel
NDEGEL SN) dagH
Sound can not pass through
a) Water b) Steel
c) Air d) Vacuum
12

92.

92.

93.

93.

94.

94,

95.

95.

96.

96.

e gfad ardfe U aTell Headt ugell YR Afgar i off?

T) N TR ) Ve R
) AR & S1) gtAar 4
Who was the first Indian Woman winner of Miss Universe Award?
a) Reeta Faria b) Aishwarya Rai
¢) LaraDutta d) Sushmita Sen
2014 ¥ {6 IRAR o U Aaet i GREBR SIaT o7
Q) derer acanefi &) ddbe AT
T) TR ¥ 7R 4T
Which Indian won aNobel Peace Prizein 20147

a) Kailash Satyarthi b) Venkat Raman
¢) Ram Krishnan d) Mother Teresa

sTH W BIF Al fd=s A1 SR B FHfT T8 8°

Q) e ) BUTA KA

) T B SR SIREEIRE

Which among the following is not awork of Rabindra Nath Tagore?
a) Chitra b) Kapala Kundala

¢) The Court Dancer d) Chitrangda

TN VAR B oD &2

7) 89 ) gerirary
) Tayfar <) Rrgred
“Uttar Ramcharit” has been written by :-

a) Harsha b) Tulsidas

) Bhavabhuti d) Shidhartha

T TS 3ifp el o &I forar 87

T) g9f SIY ) 2 S

/) IR B Q) eregfa T 7
The book “The god of small things” iswritten by :

a) Pupul Jayakar b) Sobha De

¢) Shekhar Kapoor d) Arundhati Roy
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87.

87.

88.

88.

89.

89.

90.

90.

91.

91.

et T qREPR UG B H ST GARIE (b R H Bl =7

) ¥Cibem o) sifeer

) foryar S T T

In which city is the presentation ceremony of Noble Peace Prize held?
a) stockholm b) Oslo

c) Geneva d) The Hague

I R e a3 # faam sar 22

T) Wt ) @ fra

) fasm Q) JMABR IR @l
Grammy Award isgiven in the field of

a) Literature b) Music

c) Science d) Inventions & Discoveries

BI% U 8% Y&Id & oIy gapx Ursal fbd e or?

Q) 3rwdfd A ) e AT <At
SRS 31) oy 9
Who received Booker prize for the Book “Half aLife”?

a) Arundhati Roy b) Anita Desai
¢) V.S.Naipaul d) Kiran Bedi

AIH Y8l R Yol JR¥BR e fHelr or?

Q) SarER ol 78 ) MfdT oo ud

@) 4 I <l @ 41

Thefirst recipient of Bharat Ratna was

a) Jawahar Lal Nehru b) Govind Vallabh Pant

c) B.C.Roy d) C.V.Raman

I Ugell YR Xl qog udd b’y et or?

Q) d) 3R rTSHR ) B BRI

) offel d8IgR 2T <) TH il HEee

Who was the first posthumous recipient of Bharat Ratna?

a) B.R.Ambedkar b) K.Kamrgj

c) Lal Bahadur Shastri d) M.G.Ramachandran
20

53.

53.

54.

55.

55.

56.

56.

57.

57.

IRIRT B 74 A fhaw e 8?2

Q) @R ) w8
/) e SUICER
Angorawool is extracted from

a) Rabbit b) Sheep
c) Fox d) Goat

ST W DI A IR Afersii B, YEul & Hhldel SATRT AT 3R Bl 87

) BIC 3ChH ) uersfed

) Sige seiRgfea <) sreRTgfew
Which of the following diseases affects women easily than men?
a) Heart attack b) Hepatitis

c) Joint arthritis d) Arthritis

AT INR H SRS I FASTeldRor &) e 398 o fdaal H4Hl 9 8l 27

T) faefem ) dree
SRR <) il
Dehydration in human body is caused due to the loss of

a) Vitamins b) Salts

¢) Hormones d) Water

Us &1 99 379 ¥ fhogs RY ag &1 oirdr 27

Q) Herg ) e

) fap™T g9 arel Boal Q) A Sidsid

The age of the tree is determined by its:

a) Girth b) Height

¢) Growth rings d) General appearances
g8 O B9 a9 fagmer Shifad ueh 27

T) e ) 9r

&) S &)

Which of the following isthe largest living bird?

a) Eagle b) Peacock

c) Ostrich d) Kiwi

13



58.

58.

59.

59.

60.

60.

61.

61.

62.

AT IR H o8 O B @ NS e 31fdd gy 27

NISIENIEE] &) Pred

) SRA SN) ARG
The element which is the most abundant in the human body is
a) Oxygen b) Carbon

c) lron d) Nitrogen

T8 W P AT W B A H IMIRA SITST BT 27

) @rad EUIRE]
) el SI) R
Which of the following food itemsisrichiniron?

a) Rice b) Apple
c) Pulses d) Orange

INR BT BT AT 3T HY IR 8] HRT?

q) e 1) dferarst / srearer
&) R ) geu

Which organ of the body never rests?

a) Eyes b) Pancreas

c) Liver d) Heart

O 3 W fhddET 9T 77

Q) I ) BHS
&) R &) e
Glaucomais disease of the

a) Skin b) Lungs
c) Liver d) Eyes

g9 398 9 {59 SR 9w=TE o 87

Q) G H BTSRIATISS B AREH THG & BRI

q) DhSl # BTSN RIEgS B 3IfSd STHT & BRI

dM) wwsl H RIS & 3MfH STHT & HROT

<) 399 & DIg el
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82.

82.

83.

83.

84.

84.

85.

85.

86.

86.

TRT H SYUE YUV B Pel Rerd 87

V) 3EHSIETE ) g
) seRerer SI) o
Whereis the satellite launching centre of Indialocated?
a) Ahmadabad b) Hassan
¢) Sriharikota d) Thumba

T Teitid Red Hex (demeedl) wef Rerd 87

Q) faeet
SUERE]

Bhabha Atomic Research Centre (BARC) is
a) Delhi

¢) Chennai

MRATT AT & TR &1 N Bl &7

U) MR AT & SR
) AT 9

The Chief of the Indian Navy has the rank of

a) General of Indian Navy

&) g7
Q) TExEE

situated in:-
b) Mumbai
d) Hyderabad

) IR AT BT UqE
2l) TSR

b) Chief of Indian Navy

¢) Naval Chief d) Admiral

TATSSRI Bl UAT FSH & SRMF 594 A fhd TSIl B aeadhdl TSl 82
Y) fds gl ) getfdget Uit

) B gl 3N) DB TS

Gliders depend on the following energy for their flight:

a) Wind energy
c) Heat energy

b) Electrical energy
d) Chemical energy

g8 I fhadl Aide Ulgel 3R 9RT ¥
Q) HETHT TTEN
) HER T

Who among the following is an awardee of both the Nobel Prize and the Bharat Ratna?

a) Mahatma Gandhi

c) Mother Teresa

, a8 REPR e 87

) o= A1 SR

Q) UfSd SareR ol A8%

b) Rabindra Nath Tagore
d) Pt. Jawahar Lal Nehru
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77.

77.

78.

78.

79.

79.

80.

80.

81.

81.

JRIee SYRNT BT gxdd9d 579 I fbd di & forv fhar wrar 87

NEIREIEICIN] M) AfareE

) 9 werd SIESIS

Sextant is an instrument used in which of the following

a) Gynaecology b) Navigation

¢) Birth control d) Medica Treatment
TIRG ThsHl 318 I fbg w=x § 87

IEERIEIC ) BraFR

) BB <) g8

Air Force Academy islocated in

a) Hyderabad b) Coimbatore

c) Kakinada d) Mumbai

TEHT R A9 DI AR dlell SUIIed BT a1 A1 17

Q) T ) PrcArta

) DefoR S) 3farar

What was the name of the Space Shuttle that landed man on the moon?
a) Eagle b) Columbia

¢) Challenger d) Apollo

YR T8 e Sa-tairon &1 fodme’ fad ol Srar 87

Q) S g IR 9 ) = U @ S 3rge ded
SRS ECESRG| Sl) Sfaex BT AT

Who is known as “the father of Indian Missile Technology” ?

a) Dr. U.R.Rao b) Dr. A.P.J. Abdul Kalam

c¢) Dr. Chidambaram d) Dr. Homi Bhabha

AT 5 | T 2?
) TS Brgex faAm 1) U agSwArT <
) T T QN Dl TSl Q) Uh ol X Dl dgd

Which one of the following correctly describes AGNI?
a) A Fighter plane b) A versatile tank

c) A Long-range missile d) A Long range gun
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62.

63.

63.

64.

64.

65.

65

66.

66.

Y awning occurs due to

a) Excess concentration of CO2 in blood.
b) Excess concentration of CO2 inlungs
c) Excess concentration of O2 inlungs

d) None of these

sTH 4 F1 fafs §—12 &1 v RYR g 27

1) B, @) g

NUISE] Sl) TR

Which of thefollowing is arich source of Vitamin B-12?

a) Cashew nut b) Milk

c) Apple d) Watermelon
S B aURYN fhed fasfaa o1 ofi?

Q) fdar e ) MR A D
/M X e for=a= 3)) FdR wrfean
Who devel oped the concept of e-mail

a) Bill Gates b) Arther C. Clark
c) Ray Tom Linson d) Sabir Bhatia
et Hies @ UR=TITH® 99 UST &1 T HEd 27

q) urée ) aRa

) g SIRERIEE
What is an organisation’ s introductory webpage called?

a) Portal b) Vora

¢) Homepage d) web site

g$ e ST TaR Jedd BT SRIATT &g, IS AT ARSI &7 § BRd ©, 99 Hal
ST &

Q) T U U dl) sy T T
W) T T T SRR
A communication network which is used by large organization over regional, national or global area

iscaled:

a) LAN b) WAN
c) MAN d) VAN
15



67.

67.

68.

68.

69.

69.

70.

70.

71.

71.

<A aTell J9aTse fad! e 69 T 4 Ao U ARSI Ao 27

Q) HRBT ) faea

@) wirsA 3N At

Wiki leaks, awhistle blowers website, is an international organization based on :
a) USA b) U.K.

c) Sweden d) Norway

STH W R U TR Al 77

v) fea ) fifex

) ArSE <) ST URRIR

Which of the following is not a“Hardware’?

a) Chip b) Printer

¢) Mouse d) Java Processor

et Brerer § N9 &1 w7 Aded g 27

Q) X1 T Ty HA d) s T U eEH HR)

) Ved v HA S1) Ml Sferetae HH

In a computer, what does RAM stand for?
a) Ready to Access Memory b) Read At atime Memory

¢) Random Access Memory d) Readily Available Memory

YRA BT YR HRYCX —TRA $H8l Al o7

V) T=g &) g
) dTgs Sl) PreAdBIT
Whereis India s Super Computer PARAM islocated?
a) Chennai b) Pune
¢) Benguluru d) Kolkata
HIex 3T A a1 sfafa &1 fUames o9 o oar 27
T) UISITTRE 1) gofers
/) IR e 3N) DR
Who is known as Father of Geometry ?
a) Pytha- goras b) Euclid
c) Aristotle d) Kepler
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72.

72.

73.

73.

74.

4.

75.

75.

76.

76.

Aok Red &1 s @it or?

T) e 1) it gsel

) Fpre™ daRfAHH 3) Iefiferar

Who discovered Solar System?

a) Newton b) John Hadley

c¢) Nicolous Copernicus d) Gdilio

foa denf=e =1 e vfaea vferie Meam &1 ggr ar?
MR ) smgStd e
) TedcT MMSNTISH SIESIEEREIEE!
Which Scientist discovered the radioactive element Radium?

a) Marie Curie b) Issac Newton

c) Albert Einstein d) Benjamin Franklin
U DI YEAT BT 9T &

T) BggHIey ) derer

W) TCTelRTHeR 3l) eHiHeR

The purity of milk is determined by

a) Hydrometer b) Lactometer

c) Stalagometer d) Thermometer

Ry Wbl 398 9 fbd 104 & forv sxaurer fhar Sirar 287
0) eafy @ T B §) TR B FEAAT DI
) &Y B AeIdr bl SN) gGT B TH Bl

Richter scaleis used for measuring:-
a) Velocity of sound b) Density of liquid
c) Intensity of earth quake d) Humidity of air

UfcreTRYe avail &1 EReror fhd fasme 4 o Smar 27

V) 3MSHIARTD ) gfeaHfes
EIRE SRS SURNEEEY
Preservation of historical articlesis donein Science of

a) lconography b) Numismatic
¢) Museology d) Epigraphy
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